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b, 2sinxcasx=I3 sinx

Ajsebrw'c [nterlude .
(x-DXD* D=0

D X2=0 ,X-37O, X" 1=

i AB=O ,then
A:Q * B+ O,

G- De-3) =%

9 Squave Root Theacer
X<t | |¢ o)) =C ,then
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. Dsinxcosx=J3 sinX

Xs-Xz=O 2(_3:2(:—
Xz(x_D_o X‘I 3(‘
X=0 x-1=0O X=|

y=o X=\ g— 2
Qsiaxcosx-a\)%@i/\x %—’é’
X

3. cos’x-1=0
(cosX) - 15 = codx=|

(cosx -H)(cosx-—D =0 Cosx =% |
cosk+( =0, (osx =O

(osk=-1 , (OSX= | X=0 )—y[
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0. sec’x I3 secX - §Zsecx~Jlo =
N N g

5ecx(secx +\3 > —-J2 (55:(_)( -N—) =0

(secx+f>(&0<—d‘> O
Secx+J3=0  X~Z ()

Secx =3 X =2
Xz R notse A T AT

lefs Cﬂ— ) 4_

4. Qcos’)+ [ = - Dcosx
2co3 % 4 Bcosx + | = O

Let w=cosx

2w +3u+ |l = O
(2“"")(“'”)‘ O
(2cosx+ (COSKHB"O

=5 NG
<2 X=Tr
X5 1%
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1. 4 0s°x =3cosx
4 cos>x-3cosX =
COSX sz oS X — 3> =0
cosx=0 “Acosx-3 =0

=T 3\ Cosx=T
Cosx =+ {3

T g0 G I

20 tan X +tanx-V3 =3ty

tafr lanx B o83 - O

tonx (LO\I\X+I -J3 ({pmx.,.| >—_—_O
({:a/\x+D<‘l;Mx—\I§>>= O

‘éa/\ = - MW;B
oy < B
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22 - ros"x = (05X

05 X~(a5 X =)
cos'x (cos"x=1)= O
cos'x=0 cosx-[=O

4
©X=0 Gexir

(=0%7%)

Find all the soluhans.

2. Sec3X —‘23"3 =0
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b8. cos @x-{:—'— =-J2
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